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Instructions to Pupils;

1. Do not open this bookiet until you are told to do so.
2. This paper consists of 3 parts: Sections A, B and C.
3. Follow all instructions carefully.
4
5

. ANSWER ALL THE QUESTIONS.
. Check all answers carefully.

Maximum _Marks Obtained
Se_ction A 10
Section B 14
Section C | 16
| Total | 40

* This paper consists of 9 pages altogether (including cover
page).




Section A (5 X 2 marks)

For questions 1 to 5, four options are given. One of them is the correct
answer.

Make your choice and write its number 1, 2, 3 or 4 in the brackets provided.
Each question carries 2 marks.

1. in 4 957, the digit 9 is in the place.

(1) ones (2) tens

{3) hundreds (4) thousands ( )
2. 8 thousands + 1tens + 2 ones =

(1) 812 {2)8012

(3) 8 102 (4) 8 120 ( )

3. What is the sum of 2 982 and 5637

(1) 2 419 {2) 2 429
(3} 3445 (4) 3 545 ( )
4, 8 groups of 4 is the same as
{()8+4 " {2)8-4
(3) 8 x 4 (4)8+4 ( )
5. There were 2 160 men at the stadium. There were 921 more men than women.

How many women were at the stadium?
(1} 1239 (2) 2249

(3) 2 841 (4} 3 081 { )



Section B (4 X 1 mark, 5 X 2 marks)
For questions 6 to 14, show your working clearly in the space below each
question and write your answer in the answer boxes provided. Give your

answers in the units stated.
Questions 6 to 9 carries 1 mark each, while questions 10 to 14 caries 2

marks each.

6. In the number 5 102, the value of digit 1 is

7. Write six thousand and forty-two in numerals.

8. Arrange the following numbers from the smallest to the greatest.
Smallest ' ' > ' Greatest

9, T+7+7+7+7=7 x




10.. 5030 — 4780~=

11.  What are the missing numbers represented by A and B?

8 9 2 8
— 8 5 4
6 3 7 A

A:

B:

12. Dexter collected 7 stamps.
Jensen collected thirice as many stamps as Dexter.
How many stamps did they have altogether?

stamps




13. The difference between 2 numbers is 45.
The smaller number is 186.
What is the greater number?

14.  Daniel collected 72 game cards.

He collected 8 times as many cards as Jonathan.

How many game cards did Jenathan collect?

game cards




Section C (4 X 4 marks)
Read the following questions carefully. Show your workings and write your
answer clearly at the spaces provided at the end of each question.

15. 2 apples and 2 oranges cost $10.
2 apples and 4 oranges cost $14.

How much do 6 oranges cost?
Workings

Answer:




16. A wallet costs $9, and a smartphone cost $1 230.
A bag costs 5 times as much as the wallet.
How much more does the smartphone cost than the bag?

Workings

Answer:




17.  Raijah has 18 ducks and cows in his fam.
The ducks and cows have 48 legs altogether.
How many ducks and how many cows are there in Rajah’s farm'?

Workings

Answer: ducks

cows




18.

Najib tore his bank passbook by accident as he was
cleaning up his room.

In the passbook record, it is shown that he saved $6 in

the first month.
In the following months, he saves $6 more than the previous

month.
How many months will it take him to save $90 in totai?

I BANK PASSBOOK ]

Answer:

-End of Paper-

Workings
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28 stamps

231

9 game cards

$10 - $14 = $4 (2 oranges)
$4 +2 = $2 (1 orange)
$2x6=%12

6 oranges cost $12

$9 X 5= = $45 (bag)
$1230 - $45 = $1185

The smartphone cost $1185 more than the bag.
Assume all the animais are ducks.

18x2=36
48 -36 =12
4-2=2
12+2=6
18-6=12

There are 12 ducks and 6 cows.






Q18

Month 1 2 3 4 5
6+6= 12+6= | 18+6= 24 +6 =
Amount
saved 6 12 18 24 30
(%)
6+12= | 18+ 18= | 24+36=| 30+60=
Total (3)
6 18 36 60 90

He will take 5 months to save $90.
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